

05/03/2024

Vendor Ranking Page 1 of 1

 Letting:
 04240503
 May 03, 2024 10:30 AM
 Call Order: 005
 Contract:
 E4X53

 District:
 District 4
 Counties:
 BROWARD
 Fed Aid No: N/A

Contract Time: 730 CALENDAR DAYS

Project(s): 43788027201 (*)

Contract Desc: BROWARD COUNTY SIGN REPLACEMENT - ROUTINE MAINTENANCE

Rani	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	SAFETY SYSTEMS BARRICADES CORP.	Responsive	Winning bid	\$403,020.00	100.00%
2	AUM CONSTRUCTION INC.	Responsive	Non-Winning Bid	\$415,870.00	103.19%
3	PI SOLUTIONS CONSULTING, LLC	Non Responsive	Non-Winning Bid	\$444,325.00	110.25%
4	COMPLETE HIGHWAY IDENTITY, INC.	Responsive	Non-Winning Bid	\$450,175.00	111.70%
5	TRAFFICO LLC	Responsive	Non-Winning Bid	\$519,800.00	128.98%
6	NATIONAL TRAFFIC SOLUTION, INC	Responsive	Non-Winning Bid	\$798,670.00	198.17%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED: BEGIN DATE: 05/28/24 BEGIN TIME: 10:30 AM

END DATE: 05/31/24 END TIME: 10:30 AM

NOTE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$500,000.00 and not the contractor's bid total.



Page 1 of 10

05/03/2024

Tabulation of Bids

 Letting:
 04240503
 May 03, 2024
 Call Order:
 005
 Contract:
 E4X53

 District:
 District 4
 Counties:
 BROWARD
 Fed Aid No: N/A

Contract Time: 730 CALENDAR DAYS Project(s): 43788027201 (*)

Contract Descr: BROWARD COUNTY SIGN REPLACEMENT - ROUTINE MAINTENANCE

The work under this Contract consists of providing labor, equipment, materials, and incidentals necessary to furnish, install, and remove signs along various arterial & interstate roadways.

ADVERTISED ESTIMATE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$500,000.00 and not the contractors bid total.

REQUIRED SUBMITTAL WITH BID: Experience in Overhead signs.

PERFORMANCE BOND: A Contract / Performance bond is required for this project.

FUNDS APPROVAL FOR FISCAL YEAR 2025 IS CONTINGENT UPON ANNUAL LEGISLATIVE APPROPRIATION BUDGET APPROVAL.

PLEASE READ STANDARD SPECIFICATIONS FOR ROAD AND BRIDGE CONSTRUCTION FY 2023-24 (SECTION 7-13) FOR INSURANCE LIMITS.

Line No / Item ID Alter Item Description	nate Quantity Units	(1) SAFETY BARRICAD		(2) AUM CONST	RUCTION INC.	· , ,	DLUTIONS TING, LLC
() indicates item is bid as Lump S	um	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(SIGNS(GRND	SIGNS 30 SQ FT	OR LESS)(UN				
0005 0700 1 11 SINGLE POST SIGN, F&I GROU MOUNT, UP TO 12 SF	20.000 ND AS	410.00000	8,200.00	675.00000	13,500.00	425.00000	8,500.00
0010 0700 1 12 SINGLE POST SIGN, F&I GROU MOUNT, 12-20 SF	15.000 ND AS	1,300.00000	19,500.00	2,250,00000	33,750.00	1,050.00000	15,750.00
0015 0700 1 13 SINGLE POST SIGN, F&I GROU MOUNT, 21-30 SF	10.000 ND AS	1,400.00000	14,000.00	750.00000	7,500.00	1,200.00000	12,000.00
0020 0700 1 14 SINGLE POST SIGN, F&I GROU MOUNT, 31+ SF	5.000 ND AS	1,650.00000	8,250.00	1,000.00000	5,000.00	1,350.00000	6,750.00



05/03/2024Page 2 of 10

Tabulation of Bids

Letting	g : 0	4240503	May 03, 2024	Cal	II Order: 005		Contract:	E4X53	
	No / Item ID Description	Alternat	e Quantity Units	(1) SAFETY BARRICAD		(2) AUM CONST	TRUCTION INC.		LUTIONS TING, LLC
() inc	dicates item is b	id as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SIGNS(GRND	SIGNS 30 SQ FT	OR LESS)(UN				
0025 SINGLE	0700 1 40 POST SIGN,	INSTALL	4.000 AS	150.00000	600.00	100.00000	400.00	175.00000	700.00
0030 SINGLE	0700 1 50 POST SIGN,	RELOCATE	2.000 AS	300.00000	600.00	300.00000	600.00	300.00000	600.00
0035 SINGLE	0700 1 60 POST SIGN,	REMOVE	10.000 AS	50.00000	500.00	150.00000	1,500.00	30.00000	300.00
	0700 2 11 POST SIGN, , UP TO 12 S	F&I GROUND SF	5.000 AS	2,450.00000	12,250.00	500.00000	2,500.00	2,600.00000	13,000.00
	0700 2 12 POST SIGN, , 12-20 SF	F&I GROUND	25.000 AS	3,200.00000	80,000.00	3,000.00000	75,000.00	3,000.00000	75,000.00
	0700 2 13 POST SIGN, 7, 21-30 SF	F&I GROUND	20.000 AS	3,400.00000	68,000.00	4,500.00000	90,000.00	3,000.00000	60,000.00
	0700 2 14 POST SIGN, 7, 31-50 SF	F&I GROUND	15.000 AS	3,800.00000	57,000.00	4,000.00000	60,000.00	3,000.00000	45,000.00
	0700 2 15 POST SIGN, 7, 51-100 SF	F&I GROUND	5.000 AS	4,500.00000	22,500.00	4,250.00000	21,250.00	4,250.00000	21,250.00
0065 MULTI-	0700 260 POST SIGN,	REMOVE	10.000 AS	350.00000	3,500.00	500.00000	5,000.00	300.00000	3,000.00



05/03/2024 Page 3 of 10

Tabulation of Bids

Letting	j : 04	1240503	May 03, 2024	Cal	l Order: 005		Contract:	E4X53	
	No / Item ID Description	Alternat	e Quantity Units	(1) SAFETY BARRICAD		(2) AUM CONST	RUCTION INC.		LUTIONS TING, LLC
() ind	licates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SIGNS(GRND	SIGNS 30 SQ FT	OR LESS)(UN				
	0700 3101 ANEL, FURNIS D MOUNT, UF		10.000 EA	450.00000	4,500.00	550.00000	5,500.00	250.00000	2,500.00
	0700 3102 ANEL, FURNIS D MOUNT, 12		10 . 000 EA	485.00000	4,850.00	750.00000	7,500.00	800.0000	8,000.00
	0700 3103 ANEL, FURNIS D MOUNT, 21		10.000 EA	695.00000	6,950.00	500.00000	5,000.00	800.0000	8,000.00
	0700 3104 ANEL, FURNIS D MOUNT, 31		5.000 EA	975.00000	4,875.00	500.00000	2,500.00	1,000.00000	5,000.00
	0700 3105 ANEL, FURNIS D MOUNT, 51		2 . 000 EA	1,850.00000	3,700.00	1,000.00000	2,000.00	1,300.00000	2,600.00
	0700 3201 ANEL, FURNIS EAD MOUNT,		10.000 EA	825.00000	8,250.00	400.00000	4,000.00	725.00000	7,250.00
	0700 3202 ANEL, FURNIS EAD MOUNT,		5.000 EA	850,00000	4,250.00	400.00000	2,000.00	725.00000	3,625.00
	0700 3203 ANEL, FURNIS EAD MOUNT,		5.000 EA	1,000.00000	5,000.00	1,500.00000	7,500.00	950.00000	4,750.00
	0700 3204 ANEL, FURNIS EAD MOUNT,		3.000 EA	1,450.00000	4,350.00	1,150.00000	3,450.00	1,200.00000	3,600.00



Tabulation of Bids Page 4 of 10

05/03/2024

Letting	: 04	240503	May 03, 2024	Ca	II Order: 005		Contract:	E4X53	
	No / Item ID Description	Alternat	e Quantity Units	(1) SAFETY BARRICAD		(2) AUM CONST	TRUCTION INC.		LUTIONS TING, LLC
() indi	cates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SIGNS(GRND	SIGNS 30 SQ FT	OR LESS)(UN				
SIGN PA	0700 3205 NEL, FURNIS EAD MOUNT,		2.000 EA	3,000.00000	6,000.00	2,200.00000	4,400.00	2,300.00000	4,600.00
SIGN PA	E700 3 1 NEL CLEANIN ED SIGNS	NG, GROUND	8.000 SF	25.00000	200.00	25.00000	200.00	4,850.00000	38,800.00
	E700 3 2 NEL CLEANIN	NG, OVERHE	8.000 AD SF	40.00000	320.00	40.00000	320.00	250.00000	2,000.00
	E700 46 31 EXISTING SIG	GN (SINGLE F	5.000 POST) AS	250.00000	1,250.00	150.00000	750.00	250.00000	1,250.00
	E700 46 32 EXISTING SIG	GN (MULTI PO	10.000 DST) AS	400.00000	4,000.00	500.00000	5,000.00	850.00000	8,500.00
	E700 46 33 EXISTING SIG	GN (OVHD TR	10.000 (USS) AS	1,725.00000	17,250.00	1,000.00000	10,000.00	850.00000	8,500.00
	E700 46 34 EXISTING SIG EVER)	GN (OVHD	10.000 AS	1,850.00000	18,500.00	2,000.00000	20,000.00	950.00000	9,500.00
BREAKA	E700 94 1 WAY SIGN SI ATION (F&I)	UPPORT	10.000 EA	575.00000	5,750.00	500.00000	5,000.00	950.00000	9,500.00
BREAKA	E700 94 2 WAY SIGN SI ATION (REMO		10.000 EA	225.00000	2,250.00	350.00000	3,500.00	950.00000	9,500.00



Tabulation of Bids Page 5 of 10

05/03/2024

Letting:	04240503	May 03, 2024	Cal	ll Order: 005		Contract:	E4X53	
	o / Item ID Alternates	te Quantity Units	(1) SAFETY SYSTEMS BARRICADES CORP.		(2) AUM CONSTRUCTION INC.		(3) PI SOLUTIONS CONSULTING, LLC	
() indica	ates item is bid as Lump Sum	1	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
:	SECTION: 0001	(SIGNS(GRND	SIGNS 30 SQ FT (OR LESS)(UN				
	E700 96 1 PPORT REPAIRS (ALUMII	25.000 NUM) LB	150.00000	3,750.00	200.00000	5,000.00	900.00000	22,500.00
	E700 96 2 PPORT REPAIRS (STEEL)	25.000) LB	85.00000	2,125.00	250.00000	6,250.00	900.00000	22,500.00
0001 S	SIGNS(GRND SIGNS 30 S SQ FT OR LESS)(UN)	Section Totals:		\$403,020.00		\$415,870.00 ¹		\$444,325.00
	Contract G	Grand Totals:		\$403,020.00		\$415,870.00		444,325.00



Tabulation of Bids

05/03/2024

Page 6 of 10

Letting:	04240503	May 03, 2024	Cal	II Order: 005		Contract:	E4X53	
	o / Item ID Alterna	te Quantity Units	(4) COMPLET IDENTIT		(5) TRAFF	ICO LLC		AL TRAFFIC ION, INC
	ates item is bid as Lump Sun		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
:	SECTION: 0001	(SIGNS(GRND	SIGNS 30 SQ FT	OR LESS)(UN				
SINGLE P	0700 111 OST SIGN, F&I GROUNI JP TO 12 SF	20.000 AS	300.00000	6,000.00	480.00000	9,600.00	550.00000	11,000.00
	0700 1 12 OST SIGN, F&I GROUNI 12-20 SF	15.000 AS	1,100.00000	16,500.00	1,500.00000	22,500.00	1,200.00000	18,000.00
	0700 1 13 OST SIGN, F&I GROUNI 21-30 SF	10.000 AS	1,200.00000	12,000.00	1,600.00000	16,000.00	1,500.00000	15,000.00
	0700 1 14 OST SIGN, F&I GROUNE 81+ SF	5.000 AS	1,300.00000	6,500.00	1,700.00000	8,500.00	1,800.00000	9,000.00
	0700 140 OST SIGN, INSTALL	4.000 AS	200.00000	800.00	400.00000	1,600.00	400.00000	1,600.00
	0700 150 OST SIGN, RELOCATE	2.000 AS	250.00000	500.00	1,000.00000	2,000.00	400.00000	800.008
	0700 160 OST SIGN, REMOVE	10.000 AS	20.00000	200.00	200.00000	2,000.00	150.00000	1,500.00
MULTI- PO	0700 2 11 OST SIGN, F&I GROUND UP TO 12 SF	5.000 AS	2,750.00000	13,750.00	3,500.00000	17,500.00	3,500.00000	17,500.00
	1700 2 12 DST SIGN, F&I GROUND 12-20 SF	25.000 AS	3,700.00000	92,500.00	4,250.00000	106,250.00	4,500.00000	112,500.00



05/03/2024

Page 7 of 10

Tabulation of Bids		

Letting:	04240503	May 03, 2024	Ca	II Order : 005		Contract:	E4X53	
Line No / It		nate Quantity Units	(4) COMPLET		(5) TRAFF	ICO LLC		AL TRAFFIC ION, INC
() indicates	item is bid as Lump S		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC	CTION: 0001	(SIGNS(GRND	SIGNS 30 SQ FT	OR LESS)(UN				
	2 13 SIGN, F&I GROUN 0 SF	20.000 ND AS	4,200.00000	84,000.00	4,400.00000	88,000.00	5,500.00000	110,000.00
	2 14 SIGN, F&I GROUN 0 SF	15,000 ND AS	4,200.00000	63,000.00	5,200.00000	78,000.00	9,500.00000	142,500.00
0060 0700 MULTI- POST MOUNT, 51-1	SIGN, F&I GROUN	5.000 ND AS	4,000.00000	20,000.00	7,500.00000	37,500.00	20,000.00000	100,000.00
	2 60 SIGN, REMOVE	10.000 AS	300.00000	3,000.00	750.00000	7,500.00	1,500.00000	15,000.00
SIGN PANEL,	3101 FURNISH & INST <i>I</i> UNT, UP TO 12 SF		400.00000	4,000.00	240.00000	2,400.00	350.00000	3,500.00
SIGN PANEL,	3102 FURNISH & INST <i>I</i> UNT, 12-20 SF	10.000 ALL EA	600.00000	6,000.00	340.00000	3,400.00	650.00000	6,500.00
SIGN PANEL,	3103 FURNISH & INST <i>I</i> UNT, 21-30 SF	10,000 ALL EA	1,050,00000	10,500.00	600,00000	6,000.00	750.00000	7,500.00
SIGN PANEL,	3104 FURNISH & INST <i>I</i> UNT, 31-50 SF	5.000 ALL EA	1,280.00000	6,400.00	1,250.00000	6,250.00	950.00000	4,750.00
SIGN PANEL,	3105 FURNISH & INSTA UNT, 51-100 SF	2.000 ALL EA	1,500.00000	3,000.00	3,000.00000	6,000.00	1,950.00000	3,900.00



05/03/2024Page 8 of 10

Tabulation of Bids

Letting	j: 042	240503	May 03, 2024	Ca	II Order: 005		Contract:	E4X53	
	No / Item ID Description	Alternate	Quantity Units	(4) COMPLET IDENTIT		(5) TRAFI	FICO LLC		AL TRAFFIC ION, INC
() ind	licates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(SIGNS(GRND	SIGNS 30 SQ FT	OR LESS)(UN				
	0700 3201 ANEL, FURNISH EAD MOUNT, L		10.000 EA	850.00000	8,500.00	500.00000	5,000.00	1,000.00000	10,000.00
	0700 3202 ANEL, FURNISH EAD MOUNT, 1		5.000 EA	1,250.00000	6,250.00	750.00000	3,750.00	2,000.00000	10,000.00
	0700 3203 ANEL, FURNISH EAD MOUNT, 2		5.000 EA	1,750.00000	8,750.00	1,000.00000	5,000.00	3,000.00000	15,000.00
	0700 3204 ANEL, FURNISH EAD MOUNT, 3		3.000 EA	2,700.00000	8,100.00	3,250.00000	9,750.00	5,000.00000	15,000.00
	0700 3205 ANEL, FURNISH EAD MOUNT, 5		2.000 EA	3,200.00000	6,400.00	5,000.00000	10,000.00	10,000.00000	20,000.00
	E700 3 1 ANEL CLEANIN ED SIGNS	G, GROUND	8.000 SF	100.00000	800.00	400.00000	3,200.00	15.00000	120.00
	E700 3 2 ANEL CLEANIN	G, OVERHEA	8.000 AD SF	200.00000	1,600.00	700.00000	5,600.00	1,000.00000	8,000.00
0130 REPAIR	E700 46 31 EXISTING SIG	N (SINGLE P	5.000 OST) AS	275.00000	1,375.00	300.00000	1,500.00	300.00000	1,500.00
0135 REPAIR	E700 46 32 EXISTING SIG	N (MULTI PO	10.000 ST) AS	1,050.00000	10,500.00	1,250.00000	12,500.00	2,500.00000	25,000.00



Tabulation of Bids

f Bids Page 9 of 10

05/03/2024

Letting:	04240503	May 03, 2024	Ca	II Order: 005		Contract:	E4X53	
Line No / Ite		e Quantity Units	(4) COMPLET IDENTIT		(5) TRAFF	FICO LLC		AL TRAFFIC ION, INC
() indicates it	em is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SEC ⁻	TION: 0001	(SIGNS(GRND	SIGNS 30 SQ FT	OR LESS)(UN				
0140 E700 REPAIR EXIST	16 33 ING SIGN (OVHD TR	10.000 RUSS) AS	1,750.00000	17,500.00	1,350.00000	13,500.00	5,000.00000	50,000.00
0145 E700 A REPAIR EXIST CANTILEVER)	16 34 ING SIGN (OVHD	10.000 AS	1,950.00000	19,500.00	1,250.00000	12,500.00	5,000.00000	50,000.00
0150 E700 S BREAKAWAY S FOUNDATION	SIGN SUPPORT	10.000 EA	850.00000	8,500.00	500.00000	5,000.00	650.00000	6,500.00
0155 E700 S BREAKAWAY S FOUNDATION	SIGN SUPPORT	10.000 EA	200.00000	2,000.00	400.00000	4,000.00	650.00000	6,500.00
0160 E700 SIGN SUPPOR	96 1 T REPAIRS (ALUMIN	25 <u>.</u> 000 NUM) LB	30.00000	750.00	150.00000	3,750.00	10.00000	250.00
0165 E700 SIGN SUPPOR	96 2 T REPAIRS (STEEL)	25.000 LB	40.00000	1,000.00	150.00000	3,750.00	10.00000	250.00
	S(GRND SIGNS 30 S FT OR LESS)(UN)	Section Totals:	1	\$450,175.00		\$519,800.00 [°]		\$798,670.00
	Contract G	rand Totals:		\$450,175.00		\$519,800.00		798,670.00



05/03/2024

Tabulation of Bids Page 10 of 10

Letting: 04240503 May 03, 2024 **Call Order**: 005 **Contract**: E4X53

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.